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General Instructions fo Candidates :
® Thereis a *Cool-off time’ of 15 minutes in addition to the writing time.
o [se the “Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
¢ Read the instructions carefully.
® Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
& (ive equations wherever necessary.
® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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b2

Answer all questions from 1 to 10. Each carries 1 Score. (10 x 1=10)

Whose estimate of National Tncome and Per Capita Income of India during colonial

period was considered very significant 7
(a) Dadabhai Naoraji (b} William Dighi
(¢ V.KRV. Rao . (d) R.C.Desai

The Second Five Year Plan was based on the idea of
(a) Jawaharlal Nehru (b) P.C. Mahalanobis

(¢} John Mathai (d) Mukherji

Who estimated poverty on the basis of “Jail Cost of Living” during pre-independence

period 7
(a) V.K.R.V.Rao (b) Dadabhai Naoroji
(c) Suresh Tendulkar (d) Amartya Sen

Operation Flood relates to the production of
(a) Milk ' {b) Fish

=

(¢) Fruit {d) Vegetable

Headload worker is included in
(a) Formal sector (b) Informal sector

(¢) Organised Public sector (d) None of these

Primary Data are collected by way of
(a) Personal Interview {b) Telephone Interview

(¢) Mailing Questionnaire (d) All of these
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10.

13.

Range is

(a) The difference between the largest value and the smallest value in a serie:
(b) The average of the largest value and the smallest value in a series.

(¢} The ratio of the largest value to the smallest value in a series.

(d) None of these

Histogram is used to locate which one of the following ?
(a) Mean (b) Median
{c) Mode (d) None of these

The value of Karl Pearson’s coefficient of correlation
(a) fromOtol (b) from-ltol

(¢) from-1to0 (d) from1to2

Consumer Price Index measures changes in

(a) Retail price (b) Wholesale price
{c) Producer price ° (d) None of these
Answer all questions from 11 to 15, Each carries 2 Scores. (§x2=10)

Point out any two drawbacks of Indian industrial sector during colonial period.

Identify any four sources of human capital formation.

Scores of 25 students in economics examination are given below :

24, 20, 30, 42, 30, 56, 35, 24, 40, 42. 54, 30, 24, 40, 54, 24, 30, 40, 30, 40, 35, 20, 30,
35,56

Prepare a frequency array.
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10.

11.

12.

13.
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(5x2=10)
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CalOBIWDEUD 2 1)MEN 61T ER b,

somauzeiwm ojaflacsmamlan moel Grruomqpeud Gidlaltlws.

ao) goqless 25 allapdmoledBas’ TUOMITITIUDITRe adlesolod ei@lay
capon)aud ®oey s Elem]. ApayaTaie (frequency array) oiidalsaen |
24, 20, 30, 42, 30, 56. 35, 24, 40, 42, 54, 30, 24, 40, 54, 24, 30, 40, 30, 40, 35, 20, 30,
35, 56
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14. Identify the two aspects of diversification of agricultural activ

of rural areas in India.

15. Identifying a problem or an area of study is the first ste

out the other steps.

Answer any 6 questions from 16 to 22. Each carries 3 Scores.

16. Explain any three import

17. Classify the following into primary sector, secondary sector and tertiary sector :

Agriculture, Transport, Electricity, Trad

18. Select Demographic Indicators, 2013

ant goals of Five Year Plans in India.

e, Water Supply. Construction.

[ Country | Population | Annual growth of | Sex Ratio | Fertility
(in million) population Rate
(2001 - 2010)
India 1252 1.24 934 2.6
China 1357 0.49 929 1.6
Pakistan 182 1.65 947 i3

Observe the table and draw any three relevant inferences.

19. Explain the role of statistics in £CONOmICs.

0. What are the points to be kept in mind while preparing a good questionnaire

FY 351
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3 capod afla.. (6 x3=18)
10. DOWI0d  alfRUAIBIVO  ABLOISZOS ~ROOBIEN MAT  (EIWOM  Elda iRl
lldRBIH6 8.
17.  @oew amosyoildleamane powdacasel, slolloeaael, myoflwcasier agmm

dlol ol mocmildlen)s :

yodd], NTIN@o, HOURYTI, QAUIYPaI00, REIA)MOEM., BdSISTldacsms.

13, omeaammS)mm B2MAVEILOMU)a Idbamud, 2013

DI Yo RONTLeiY) | ROTUUYDOS | EilatidMald®e | (IM)E3a123m
(avoersaomlad) [Tl T EEY) - mloas
b0 loos (9andgleig)
(2001 - 2010) cog)
goamy, 1252 1.24 934 2.6
£8)alm 1357 0.49 929 1.6
aoBsimuond 182 1.65 9247 33

aiglé: M@l (nIMSMAIW (BEMENIEN 0 2T MOBMEUB O)aIelaSITm)d:.

19, avomuamile wamimaniiad cudlslalaowomyomian e alaacss)ds.

20.  a@) mg) canapalel didailencmndd waaLicense @doymnRdd neamEgRs ?
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21. Draw a Histogram

Class Interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency 5 10 16 24 18 12 ]

22. Identify the important issues in the construction of index numbers.

Answer any 4 questions from 23 to 27. Each carries 4 Scores. 4xd4=16)

23.  Analyse the role of human capital formation in the economic growth of a nation.

24. Point out the measures initiated by the government of India to improve agricultural
marketing system in India.

25. (a) Identify the steps for converting an inclusive series into exclusive series,

(b)  Convert the following inclusive series into exclusive series :

Score Frequency .
10-19 6
20-29 8
30-39 12
40 - 49 9
50-59 5

26. Explain the steps in the construction of Lorenz Curve.

27. (a) Distinguish between conventional and non-conventional sources of energy. Cite
two examples.

(b) Which sources of €nergy promote sustainable development ?
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24.

26.

27,

adlmieRoUIde NIAN ).

o adladl | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

gyl 5 10 16 24 18 12 6

Tupaldbohanyd  cdaglesjeruod  andlomiladlemmm (wom iudmemnad
AUlURBRIEN .

23 aymad 27 UOOW)FH G213 aBOMBIENC 4 IO QOMOSAY)T ).
4 capod allwe. (4x4=16)

a0} eomyaslan auauatle ugdaeled aomuaeiwm ejplacsmaniion e
UDDHEIMS a1 1,

wodlsmeacreicinl@d @odadla: allalemMmMaLEUBINs HDaIOaSIOMIUINT caenE]
@omp wasmieand nulladlaiSIen MSasladd alueade)s.

(@) podgmial cdamlow apsmigmial egaemieoss aogimaiadd aeigeandd
U DD EE ).

(b) ooy esosEmidlenym  @odgmial  s@eew  agamigiiol
cEsMI@oss Do) :

capod @Ry
10-19 6
20-29 3
30-39 12
40-49 9
50-59 3

SeROMIV Al dldazlsmmaiien seigamud alusaoda)e.

L
(8) anOMIO) DDARR GTUOMIYGSl ~0BMIRY MO ODABR CILID®HB]
M £1BG AUYDITUs QUYSmDISN . 0aE allme §RIaNOMENIWD af)PIm)s:.

(b)  ag® podEe sEmOmIRIEoaM TUMOEANSTLM. MOWIROEM ?
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28.

32.

33.

Answer any 2 questions from 28 to 30. Each carries 5 Scores. (2x5=10)

Explain the strategy of provision of minimum basic amenities as an approach to
alleviate poverty in India.

Identify the important factors responsible for land degradation.

Explain different types of correlation with the help of scatter diagram.

Answer any 2 questions from 31 to 33. Each carries 8 Scores. (2x8=16)

In July 1991, India forced to introduce New Economic Policy based on Liberalisation,
Privatization and Globalisation.

(a) Discuss the background of introducing New Economic Policy in India.

(b) Explain the important areas in which liberalisation was introduced since 1991.

Calculate Mean, Median and Mode

Class Interval | Frequency
0-10 4
10-20 8
20-30 12
30-40 18
40 - 50 0
50 - 60 5
60— 70 4

-

Scores of § students in statistics class test are given below :
Score— 10 1552035302540
(a) Calculate Mean Deviation from mean and its coefficient.

(b) Calculate Standard Deviation and its coefficient.
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28 aymad 30 AUV BN ¢a 103 Mgl BODBE 2 wm‘lm‘gmmqmga,.
5 0mpad aflm., 2x5=10)

28 pamyoes mm?m;mmmodmmﬂmo@;@ mslrunom @I TV DD 303
EIZ NSNS e allnz2000)@,

29.  agrien TRl DITImes (nIWOMalg @hoosmamgd llvosaose)a.

30. mpopa WONETION  Muasomesmoss alaflwmoonienss  quanenimue
Allwwazoae)s,,

31, 199] Keeciwic 2300 a06m., M0 AUResDamo, TRYCUOE UDB DD

apmlaeleuiagimase UODE  quonuemile  mae MSafosnomd  gmamy
mideumulmasal,

(@)  ayomad MU &M, M008B NSWI® niumIDEmE, o.ﬂummm;aa,.

(b)Y 1991 aymas D01o3 proocimdansm. MSaflad cumila iwom COEUEIG U
allwsaose)s,.

32, @awie, aw Bho, ETaN)Eidbo mmna.mmsmgﬁ..
40, AW 1 nf)

O uidlasl AR

4

8

12

18

3.8 sEleBaes GO osqim’ f'mﬁlmhﬂmmwaﬂuimmuﬂm; eigly eapod mosw
SaosjaTidlanmm, :
emod - 10 15 520 35 30 25 40
(a) 20w oiladmlonag Wy ayoloomane (Mean Deviation from mean)
@Railaag emoesipe (Coefficient of Mean Deviation) BN,

(b) @0mae jmloamane (Standard Deviation) @O uysmomane (Coefficient of
Standard Deviation) DHMSN0B) .

. -
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